: MATH 250 exam #2 KEY (SPRinvg 2003) )

mn.%_§/5¢£/z, L)+ 5

|
o pl™ = X +C/%>

M (&%) e
v BN PR s ; s +
@ ———(69(*1)’,6 Z (-1 =¢
X 2% 1y (
EX&J \./ 2 I /;
Vel o fundion F(EZ) Such fha 2o =HE)
and ?F Er

,/\/(Jcpq Thot way e d :
M(t,i)el{: FNE Y =0 bF b+ (BF ?F Ldy=0
= F+oF =0 > Fit) :O% Ff,x};c"

o Start with g’—ti/,/w&,ﬂ = JF=(Exr1)dt >
Pt = [etxra)de = €xet +o0)

* Using %' NER) > ef 49/ = -1 >
P =-1 2 40) =-X

° Then Soludion € F(t,%) = @ =
exrt—% =

e S xt)=1, €'+1-1=(C > (=¢

°So efx+ f-X =€ =2 w(gt-1\= e-t

s -
Xt)= et_4

EX! ?\‘w}o@ = — 2 +y2)dy >

o +hephad) RS

A XY oy iy .
o (XL :__i,<zf.+:4_
At 2y 2y AVF  ®
i 7/:% ,50 Y=UX>

el ldt
L= e n

dv 1/4 ),

#* So weﬁej- V—PYE:- _?\<V+1/ =
o W S A At
Kad 1 | awr| & = Tar =

447‘/ - 14'3'1/’1

v TE

12 A
9\§ i+37f=‘0(”’ B g“ o

I_J B= 1437 > %_: vV > %J/; = ydlv

dy _ dz _

A a

Then égn. becomes %_1 < (?—1_) s
o(’¥4 = ~ 1 B

- (g-1) +2 = 2 — oly

E%i = ‘t’auq<x/z?(+C) :>

Y= 1-2% FVZ tan(VZH +C>

@ 70@’: Pirwx CO cj' Tt

?O(O‘) :,5. qu( é ‘For when /0 = 0,0i

Volwme of coom = 12x2%3 = 76Y {T?) !
o Moiw 0{1{5',\@ U’(t) = Volure CO CJ 'f&ww‘{f
Then 1(0) = 0.03 (F69 %) = 23,04 #2

Find t for when v = 0.0001 (3 1) = 0-076?{2“3

o fb{- — Velwre M“'triﬂg - (/o[ }%l//ng
e i) #
—7 H} Co/ym'w, = m’l(loo s 4 our/mm) >
Av v 1 y
& = L T S
At 763 “{ ?é? -
- -t/7.
v'=-2-4C 3 vi)=Ke A7




Sinen. U7(0) = 23, oy

23.04 =Ke' > K =23.04
TE
So UE) = 23.04¢ i

Then 22.04¢ 779 = 0.0%3 >

e /349 = O_oof?; = t = Y391 min.
Pivide "\3 2% 1o ')é-: [3(0

“ 1 5 oz V

2" sz Lz CX EO)=1.

ere /0(1) f_—é‘

o which is asl coalinuens on
am]

M‘\'Qrva} (0\ ) !g) ‘ﬁqj Confaas he Po(ﬁi' s O
For fhis reason fhe Fheorun does nol apply

[Ca "fﬁ.@q4 2’ & 4(7-&(:’() e 7/3 V xe LO/“’)
C\uvl-i Y+ 9.0 =0 V')(é‘—[of”\)
l{' Cg =1 dﬁo( C1 = T "
e M1 & Y are lmw!xj o(a?udfaﬁ

[ov] Moy =2 ¢ %@a):—af ¥ xe Coo,0]

| [F] L nA]=
- _7?_%(/;\
“%-’fl(’;‘z)*‘*"(y)

B] Tley]

’(Zj‘

-

—

/,
C‘j”"' (C‘g/’ Cav;\)

N Rk

(ﬁ—m" + w) [,a\ ]

;;34—5 v

=cy”rc 'y = cTH] %l
Tl = (9 + [ (4o ]
R CHEA TR R
THFTLY ]’ g + 4l 92Y
L (iR Y]
Cleorly TE4 9] & T+ T2l 2 WF finear

Heee. CYit C,4,=0 V AE (-20,0] if D Cﬁwdz;gs“hc %uﬂj‘on AT g = 0O =
C=1 ad Ci=2 (r-3y=0 > r= 53 2
A ’mw«!? (,7?@;;‘;5;@5‘\’ Thus "1)(?4}" CQ +C 7( 3
_ )= L= A= c.
Ajloe):;uf & *71@:{%2 i 4=p 49 - 3Ce +3c mﬁc e
CEL e 4 O=% > =32 1040 >
e For %20, C4i+C3%a=0 it ¢ =anfhing
dndl Ci=r32K, 2

c—i*—f-—é,/a

. 5 fome) = 287+ % ?<€

CY1+CGYs = Co 2" -2 X = 0 Vx=zo :

e BT this does ot work for ¥ <0 @ Char. ¢q- IS f’3+3r1»‘(r‘-llzo ==
CHCoYa = o2 —2C,(-2°)

= ¢, >+ 2%’

=0 VxX<0 gy
T "“f
=0, which means C,= -2C,=-2-0=

it
£l
. hﬁ?;Ni\,i m(lmreno(m'\— .

. _2x —Ax .4
LR ke TAP Y

@ For xZ0, W&*/g"](m:'ﬁlﬂi‘%’?z

= 23— P K = - =0

FU" ®<0, (/I/E‘ﬁt/ﬁ:]fx)
=2 (BX) ex*(-27)
= _¢2%+¢x" =0

A W9 =0 Y XeE (o, )

N -4 =0 > (CN)r3)=0>
= 2_3)—2.)?\‘%



(T] e wind up with x )y = Clnt +E

LT to be 10AM , 6 X@)=0 , x(£,+)=2 X (o +H) = 4
This ﬁjﬁw reswTs 5

Cleda T E =0 f. = el .
E/c 3/c

ChnltetN+E =2 =T +1 e e , A

O Ll (it TYTE =14 t,+Y :@’E/C ef/c b (2)

Pt tinn (1) e @) & () Yidds Tty = foc’i = f—%ﬁ—"—*i (6’/‘)3 > e;/C:-. 3/75__0;“_3
b= tee (5) )

Patfion () 14l () yilds 4,44 = L‘(ﬁ_‘\ e ,em (f&\ S

(5 - (42 > b=

£ ot H U, = A9 P 2R 43I =D
4es ot 2ot LI =0 >
L+t 19t -4=0

A grophing cad cudsdor wilf qiJd the one reat sohdion £ 0.2830 hour o 3 minudes

SO i Vxﬁzm énow:f‘xz} 23 min. L{}c@r‘a iO:OO AM) or- 01’37* M




